
320

53

252

39

MINIMUM LENGTH - 252MM

FG8X-RRUR

OEM LENGTH - 280MM

MAXIMUM LENGTH - 320MM

4

5

PARTS LIST
ITEM DESCRIPTION QTY

1 DUST BOOT 4
2 3/4 IN, ROD END, RH 2
3 3/4 IN, ROD END, LH 2
4 3/4-16 NUT, LH 2
5 3/4-16 NUT, RH 2
6 WELDED ARM CENTRE 2
7 48MM WIDTH SPACER 4
8 CUSTOM M14 SHOULDER BOLT 2
9 M16 HARDENED WASHER 2

10 BMW HEMISPHERICAL SPACER 2
11 HIGH MISALIGNMENT NUT SPACER 2
12 M14 LOCKNUT 2

2

30MM HEX SPANNER

27MM HEX SPANNER

27MM HEX SPANNER

30MM HEX SPANNER

3

6

73

7

8
10

11

12

1

53
280

39

73

9

OEM BOLT TORQUE:
165Nm (121.7 ft-lb)

OEM BOLT TORQUE:
100Nm (73.8ft-lb)


	Sheets and Views
	FG8X-RRUR - Customer ASM


